C4 - Chapter 6 - Integration - Extra practice 2 - Solutions

$$\begin{array}{lll} \text{I. a)} & \frac{dy}{dx} = \frac{2\times y}{1+x^2} \\ & \int \frac{1}{y} \, dy = \int \frac{2}{1+x^2} \, dx & \text{Let } y = 1+x^2 \\ & dy = 2\times dx \\ \end{array}$$

$$= > \int \frac{1}{y} \, dy = \int \frac{1}{y} \, dy & \text{Let } y = 1+x^2 \\ & dy = 2\times dx \\ \end{array}$$

$$= > \int \frac{1}{y} \, dy = \int \frac{1}{y} \, dy & \text{Let } y = 1+x^2 \\ & dy = 2 \cdot dx = 1+x^2 + c \\ \text{b.} \quad \text{When } x = 0, y = 2 & \text{e. } 1 \cdot 2 = 1+x^2 + dx = 2 \\ & \ln |y| = \ln |2(1+x^2)| & \text{y} = 2(1+x^2) \\ & y = 2(1+x^2) \\ \end{array}$$

$$= > \frac{1}{y} \cdot \frac{1}{y} \cdot \frac{1}{y} = \frac{1}{y} \cdot \frac{1}{y} = \frac{3}{2} \quad \text{when } x = -\frac{1}{2} \cdot \frac{1}{y} = \frac{3}{2} \cdot \frac{1}{2} + \frac{3}{2} \cdot \frac{1}{2} \cdot$$

= 8 ln4 - ln 4 - 3 = 7 ln4-3 ASRERVIRED

4. a) 
$$V = x^2 + 4x$$
  $\frac{dV}{dt} = x^2 - 25$   $\frac{dV}{dt} = 2x + 4$   $\frac{dV}{dt} = x^2 - 25$   $\frac{dV}{dt} = \frac{d}{dV} \cdot \frac{dV}{dt} = \frac{1}{2x + 4} \cdot x^2 - 25 = \frac{x^2 - 25}{2x + 4}$  As REQUIRED

$$\frac{dX}{dt} = \frac{d}{dV} \cdot \frac{dV}{dt} = \frac{1}{2x + 4} \cdot x^2 - 25 = \frac{x^2 - 25}{2x + 4}$$
 As REQUIRED

$$\frac{2x + 4}{x^2 - 25} = \frac{2x + 4x}{(x + 5)(x + 5)} = \frac{A}{x + 5} + \frac{B}{x + 5}$$

$$2x + 4x = A(x + 5) + B(x - 5)$$

$$x = 5 \Rightarrow 14x = 10A \Rightarrow A = \frac{7}{5}$$

$$x = 5 \Rightarrow -6x = -10B \Rightarrow B = \frac{3}{5}$$

$$\int \frac{7}{5} \cdot x + \frac{3}{5} \cdot \ln |x + 5| = t + C$$
When  $t = 0$ ,  $x = 0$  (since bottle base empty, hence height was 0)
$$\Rightarrow \frac{7}{5} \cdot \ln |x - 5| + \frac{3}{5} \cdot \ln |x + 5| = t + C$$

$$C = 2 \ln 5$$

$$\Rightarrow t = \frac{7}{5} \cdot \ln |x - 5| + \frac{3}{5} \cdot \ln |x + 5| = t + 2 \ln 5$$

$$\Rightarrow t = \frac{7}{5} \cdot \ln |x - 5| + \frac{3}{5} \cdot \ln |x + 5| + \frac{3}{5} \cdot \ln |x + 5| + 2 \ln 5$$

$$\Rightarrow t = \frac{7}{5} \cdot \ln |x - 5| + \frac{3}{5} \cdot \ln |x + 5| + \frac{3}{5} \cdot \ln |x + 5| + 2 \ln 5$$

$$\Rightarrow t = \frac{7}{5} \cdot \ln |x - 5| + \frac{3}{5} \cdot \ln |x + 5| + \frac{3}{5} \cdot$$

b)  $\int_{2}^{1} (2x+1)^{4} dx = \left[\frac{(2x+1)^{5}}{5}\right]^{5} = \frac{3^{5}}{10} - \frac{1^{5}}{10} = 24.2$ 

 $\frac{du}{dx} = 1$   $V = \frac{x - \sin x \cos x}{x}$ 

 $= \times \left( \frac{x - \sin x \cos x}{2} \right) - \left( \frac{x^2}{4} + \frac{1}{8} \cos 2x \right) + C$ 

6. a) 
$$\frac{dx}{dt} = -Kx \qquad \Rightarrow 7 \int \frac{1}{x} dx = \int -K dt$$

$$|\ln |x| = -Kt + C$$

$$|\ln |x| = -Kt + L \ln A$$

$$|x| = -Kt + L \ln A$$

$$|x| = e^{-Kt + L \ln A} = e^{-Kt} \cdot e^{\ln A}$$

$$|x| = e^{-Kt + L \ln A} = e^{-Kt} \cdot e^{\ln A}$$

$$|x| = e^{-Kt + L \ln A} = e^{-Kt} \cdot e^{\ln A}$$

$$|x| = e^{-Kt} \cdot As \ R \in \text{QUIRED}$$
b) When  $t = 10$ ,  $x = \frac{1}{3}A \Rightarrow \frac{1}{3}A = Ae^{-10K}$ 

$$|x|_3 = e^{-10K}$$

$$|\ln (x_3) = -10K$$

$$|x|_4 = e^{-1} \cdot \ln (x_3) = \frac{1}{10} \ln 3$$

$$|x|_2 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_2 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3 = e^{-1} \cdot \frac{1}{10} \ln 3$$

$$|x|_4 = \frac{1}{10} \ln 3$$

-1 652y = xex-ex+C

10. a) 
$$\frac{5x^{2} - 9x + 1}{2x(x+1)^{2}} = \frac{A}{x} + \frac{B}{x+1} + \frac{C}{(x-1)^{2}}$$
Careful? 
$$5x^{2} - 9x + 1 = 2A(x-1)^{2} + 2Bx(x-1) + 2Cx$$

$$x = 0 \Rightarrow 1 = 2A \Rightarrow A = \frac{1}{2}$$

$$x = 1 \Rightarrow -2 = 2C \Rightarrow C = -1$$

$$x = 1 \Rightarrow 1 = 9A + 4B - 2C$$

$$14 = 9A + 4B + 2$$

$$9 = 4B \Rightarrow 8 = 2$$

$$\therefore \frac{5x^{2} - 9x + 1}{2x(x+1)^{2}} = \frac{1}{2} + \frac{2}{x+1} - \frac{1}{(x-1)^{2}}$$
b) 
$$\int f(x) dx = \int \frac{1}{2} \frac{1}{2} \ln x + 2 \ln |x-1| + \frac{1}{x+1} \int_{4}^{9} - \frac{1}{2} \ln |x| + 2 \ln |x-1| - \frac{(x-1)^{-1}}{2} + C$$

$$c) \int_{4}^{9} f(x) dx = \left[ \frac{1}{2} \ln x + 2 \ln |x-1| + \frac{1}{x+1} \right]_{4}^{9}$$

$$= \left( \frac{1}{2} \ln 9 + 2 \ln 8 + \frac{1}{8} \right) - \left( \frac{1}{2} \ln 4 + 2 \ln 3 + \frac{1}{3} \right)$$

$$= \ln 32 - \ln 3 - \frac{5}{24} = \ln \left( \frac{22}{3} \right) - \frac{5}{24} \quad \text{As } R \in \text{GOVIRED}$$
11. a) 
$$\int x \sin 2x dx = -\frac{1}{2} x \cos 2x - \int \frac{1}{2} \cos 2x dx = -\frac{1}{2} x \cos 2x + \int \frac{1}{4} \cos 2x dx$$

$$\lim_{x \to \infty} \frac{dy}{dx} = \sin 2x$$

$$= \frac{1}{2} x \sin 2x dx$$

$$\int \cos^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \sec^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dy = \int x \sin 2x dx$$

$$\int \cot^{2}y dx dx$$

$$\int \cot^{2}y dx$$

12. a) 
$$\int_{1}^{2} \frac{2x^{2}+1}{x} dx = \int_{1}^{2} \frac{2x^{2}}{x} + \frac{1}{x} dx = \int_{1}^{2} 2x + \frac{1}{x} dx = \left[\frac{2x^{2}}{2} + \ln x\right]_{1}^{2}$$

$$= \left(2^{2} + \ln 2\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln 2\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln 2\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln 2\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) = 3 + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) - \left(1^{2} + \ln x\right) + \ln 2$$

$$= \left(2^{2} + \ln x\right) + \ln 2$$

$$= \left(2^$$

14 a) 
$$x=t+2$$
  $y=t^2+1$   $dx=dt$  When  $x=0$ ,  $0=t+2$  =>  $t=-2$  When  $x=2$ ,  $2=t+2$  =>  $t=0$ 

$$V = \pi \int_{x=0}^{x=2} y^2 dx = \pi \int_{t=-2}^{t=0} (t^2+1)^2 dt$$
 AS REQUIRED

b) 
$$V = \pi \int_{-2}^{6} t^4 + 2t^2 + 1 dt = \pi \left[ \frac{t^5}{5} + \frac{2t^3}{3} + t \right]_{-2}^{6} = \pi \left\{ 0 - \left( \frac{(2)^5}{5} + \frac{2(-2)^3}{3} + (-2) \right) \right\} = \frac{206\pi}{15}$$

15 a) i) 
$$\times$$
 1 2 3  $\int_{1}^{3} \frac{12}{x} dx \approx \frac{1}{2} \cdot 1 \left\{ 12 + 2(6) + 4 \right\} = 14$ 

b) 
$$\int_{1}^{3} \frac{12}{x} dx = \left[12 \ln x\right]_{1}^{3} = 12 \ln 3 - |2 \ln 1 = 12 \ln 3$$

i) % error = 
$$\frac{|14-12 \ln 3|}{12 \ln 3} \times 100\% = 6.2\%$$

ii) % error = 
$$\frac{[6\% - 12 \ln 3]}{12 \ln 3} \times 100\% = 1.6\%$$